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Question Number : 1 Question Id : 9032015439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mark the functions performed by the Liver
U0 Aeroth Do MHohin

(I) Detoxification (I)  Heat production
DAGERE Hhey aef (s @
(I)  Glycogenesis (IV)  Insulin synthesis
NS EI2N 2)DR Voo
Options :
- (a) I & III
(b) IT & IV
2. ®
IIT & IV

I &I &I
4.

Question Number : 2 Question Id : 9032015440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Lungs are enclosed in

:208&Hew LIT° @00 sotroD

Options:



Perichondrium
Frlelile][afovslo

Periosteum
EEE%C@&

Pleura
Qeoe

Peritoneum
20&TAAb0 (wolgaEho)

Question Number : 3 Question Id : 9032015441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Blood proteins involved i coagulation of blood is
88 JoGI6° FTH EEPED

Options :
Fibrin
1.9

Heparin
Felvalels

Prothrombin
(EP(ErodS



Glutelline

HrHOS
4. %

Question Number : 4 Question Id : 9032015442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which gland help i1 making the semen alkaline
Qoo (RedS) FoeSBorT IPENOST JFCHI® ([Tod

Options :

Prostate

EF e ((Tol
1.¢

Cowper’s gland
55 (ol
T

2. %
Bartholin gland
PN (108
3. % ®
Semuinal Vesicle
4 % Sk lovhle)

Question Number : 5 Question Id : 9032015443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Muscle fatique is due to the accumulation of
5088 R (wede) o0 LR Votchdo Jos Senibdéol

Options :

Carbon di oxide
B =4
S 8 o568

1. %
Lactic acid
eES ©o
2. ¢
Creatinine phosphate
B82S TS
3, ®
None
4% 2D =)

Question Number : 6 Question Id : 9032015444 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choroid plexus have a little significance as nervous centre because it 1s composed of
85 g5am ASoldorr S5 (FPerkd SO0 Bol. A0S of AN 0N ol

Options :

{:]1111‘»r motor neurons

o r - —
ol rTraR se(ged
1. % -

Glial cells

oS Semen
2, ®



Piameter lined by cuboidal epithelium

Jovvirelhle] Sty Pomeses SHEET v50oSns dotnod
3. ¢

Durameter lined by vascular epithelium
Srrorael (Soe8Y) (B8 wisEd udbotnd Botnolh

Question Number : 7 Question Id : 9032015445 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Chorionic gonadotrophin is the secretion of
Doeding Foed” P00 ol Gl Gng) ([FPE&w

Options :

Corpus luteum
SO0 ernéddahen

1. %
Graffian Follicle
PoHahS HES
2. %
Placenta
e TOVeRLY)
3.
Anterior Pituitary
Ge8r beagerl (Hahrs)
4, %

Question Number : 8 Question Id : 9032015446 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Leydig cells produce a hormone
TER Serren (3o a’f:ﬁééﬁ

Options :
Glucagon
g laets
Estrogen
SEES
2. %
Testosterone
SPvoeR
3.¢¥ G
Progesteron
=R
e
4. %

Question Number : 9 Question Id : 9032015447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In Holoenzyme. the active site 1s formed by

F6° QoRHE® Buird)s o EANY DG Hon

Options :

Apoenzyme
JTJOE
1. %



Cofactor
Stopicilele)

Apoenzyme and Cofactor
JTJOBD HOH dFE=eE0

Vitamin B

c =
4 % Dexdna

Question Number : 10 Question Id : 9032015448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Digestive enzymes are
=PE DoBanen

Options:

Hydrolases
T E oS

Lyases
edbden

Ligases
DriSen
3. %

[somerase
O NoSE



Question Number : 11 Question Id : 9032015449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

. Glycolysis Mark the INCORRECT matching:

R

SPOHVRE Jowodod) Jor wSHBSD wed Hiothadn

[

Options :

EMP - Glycolysis
EMP -T=028

TCA - Krebs cycle
TCA-Ed) Secho

ETC - Oxidative phosphorylation

- ETC - 8385 &@;.BEE&E

Citric acid cycle - Photophosphorylation
DBE wshdecho - e %ﬁ;&ﬁ-s‘ﬁ

Question Number : 12 Question Id : 9032015450 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

End product of Glycolysis
Ds0R & ©o&r BEREsn

Options :



2 Molecule of Acetyl CoA
AVJS - CoA TwE) 2 erwayen

1. %
2 Molecule of pyruvate
I ) 2 erwayen

2.9
1 Molecule of pyruvic acid

5w 2033 830 G o8 ey
1 Molecule of oxaloacetate

@_333365 DDES Tod) o8 e
4, % =

Question Number : 13 Question Id : 9032015451 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Acetyl choline is the secretion
ARBS TP L0 Gy, [P

Options :

Nephron
Bl

1. %

Glial cell
iohd Seeo
2 %

Adrenal gland
o =
©QFE) ((1of
3, %



q Z
D‘hE
(r, -
103 i

2
O o

=

Question Number : 14 Question Id : 9032015452 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The membrane of the nerve fibres with positive charge on the outerside and negative on
the innerside is said to be
TG Sodde Euddn aoheFy ) Sore @S@D“’“ ::;.ucmé Sorr n.JCfD“E"a. o 5OA

GG 28
o]
Options :
Resting
| w Dz08 it
Excited
tEsnd
2. % *
Polarised
&) DE0oTEIDE
3. @
Depc-hlised
all Q:I.\LT-.
, @iﬁeaﬁ Codad SR

Question Number : 15 Question Id : 9032015453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Stimulation of the nerve fibre
8 S0 TwE) wldPEm
Options :

Opens the K+ channel
K+ 736 & 8%l

1. %

Opens the Na+ channel

Na+ 5236 850
2. ¢

Opens the Ca2+ channel

Ca2+ 77R€ 5 B0l
3 %

Closes Na+ and K+ channel

Na+ 50ai0 K+ 5738 sardaiod
4, #

Question Number : 16 Question Id : 9032015454 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which neurohormone inhibits the secretion of growth hormone from anterior pituitary
gland
8 s (fof o8 ($Dod Po & N (ParR) 3 I & wa‘;moa

Options :

Acetycholine
= =
NS B

Adrenalin
Ellatilols
2. %



Noradrenalin
] = E
L 5& 1_1;1 et I

3. %

Somatostatin

Pt BS
4.

Question Number : 17 Question Id : 9032015455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Total ATP produced during EMP pathway

EMP o (&3) toe ad)§ ody Sngo ATP o oy

Options :

Question Number : 18 Question Id : 9032015456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

All lipids are
DR e



Options :

Soluble in nonpolar solvent

Sl (SBEE S&ibharon
1.4

Soluble in water

- Hest 3Birhoeon

Polar in nature
S LrgrRo 2500 sotron
3. %

Hydrophilic in nature

OEAD Hrgrdo SON Botron
4, %

Question Number : 19 Question Id : 9032015457 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Glucose 1s having
HpstE LAY 500 sotnol

Options :

Pyranose ring
BT Socho
1. %

Furanose ring
5 % 8Tt E Seabo

Open chain structure

- Jju.g,é e acﬂézao



Pyranose ring and Open chain structure
RETE Sedbo HOAn HPE Teod Joeso
A=
4. &

Question Number : 20 Question Id : 9032015458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Peptide linkage 1s

EEE - o8

Options :

-CO-NH-
1.4

-COOH-NH2-
2. %

-CO-NH2-

-CH=N-

Question Number : 21 Question Id : 9032015459 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Only immunoglobulin to cross the placenta 1s
moedindoeen (o 985) 2.8 aé&:;ﬁﬁ:m;@ﬁ
L=

Options :



Question Number : 22 Question Id : 9032015460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

. Kuffer cells are found in
PG Seren 3HE BoLrOD
Options :

Stomach
1. % ﬁQ‘; SCHo

Liver
SPEaH0
2.8
Small Intestine
03 @rd
3. F

Large Intestine
260
4.% 7



Question Number : 23 Question Id : 9032015461 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

. Which of the following is a messenger that mediate the connection between the nnate
and adaptire immune system?
& (Bors QT IS D0 diee DO abong (BibEre) SIRSES SSge Hif

TeaDEROP & ij*“*“ 0 50N Botol

Options :

Complement component
1% F’.:o?{:g?gé NoHeédo

’i. accine

Sooen (28)3)
2. %

T and B Lympocytes
T $00ci» B Doghen
3. %

Question Number : 24 Question Id : 9032015462 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

T cells are produced in the and cmnplere their differentiationn  the
T Seren ---- & S0ir8mron H0ah 8 ErddYHs ------ & P0 Todoeran

Options :



Spleen: Thyroid

- Q5o @&t (1o

Spleen: Thymus

21y . o
, % B0 Pl

Bone Marrow: Thyroid
. @%}&@ . ©Ren (ol

Bone Marrow: Thymus

iy : PO
a0 ©F

Question Number : 25 Question Id : 9032015463 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

. Which of the following 1s the main immunoglobulin in the gut and secretions (saliva.
milk and tears) are important in mucosal immunity?
& (ot WERHIE 20 eErod® SogDd simTTardS H0ak @rarey
(ereraw0, 880 5000 $080%) 358 K8 Imed® SnerDid.

& =S o

Options :

IgA



Ige M

Question Number : 26 Question Id : 9032015464 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A Haptens 1s best defined on being
_— 4 - £ & -
TN B0 [Bordore GR8 DS Dodnthedol
Options :

an epitope
- =E Q‘EE':I

o e

a paratope
0.8 SroeetSs

a carrier
2.8 P80

a small chemical group that reacts with preformed antibody
2.8 OF) SFaHPIGo 00T MBS (HETLFoE” 5K adiyEol

Question Number : 27 Question Id : 9032015465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

. Which of the following stem cells are known as true stem cells?
& (Boll WF)N) Srelred” A0 QaPR SroSiro

Options :



Totipotent cell
EEPH0E B0

Germipotent cell
20) PBoel S0

Non-potent cell

3 % e - 8o Swo

Pluripotent cell
Spédr8odd Swo
4. &

Question Number : 28 Question Id : 9032015466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Stem cells are preserved in liquid
SareOStTe) ———-—-- (B508° $0880528 BoeFon

ey

Options :

Guanine

RS

ol

Nitrogen
=S (SEa)

Tyrosine
5 =
S8
3.% &



Syringine
Eelal=h
4. %

Question Number : 29 Question Id : 9032015467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who developed the chemical technique to synthesise polypeptide
&@EE o Do3He DOHTEIB BPADS HEED @@5%% Dasrdd
e
Options :

Bar bara Mc Clintock
o S Goers

James Watson

=E.. 7
Ew:'rd I:T':'é.:'n:,{\..l

Fredrick Sanger

&5 oK

H Gobind Khorana

H 590w g oeere
4.

Question Number : 30 Question Id : 9032015468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Monoclonal antibodies are usually produced from
TS TIE ($8TEP0 Frrdrorr E Dol ed)E oHEron

Options :

Myeloma cells
| Soong®Er Seren

Hydridoma cells
SPIEET S Seren

Monocytes

S R
3. % =7

Adipocyte
Sl
4. %

Question Number : 31 Question Id : 9032015469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A plasmid can be considered as suitable cloning vector if
2.8 aERGD VOGS FRoR arErto (88°E0) e FORE0E

Options :

it can be readily isolated from the cell

- ol 500 008 IDEMr I ThoGenrhdod

it possesses a single restriction site for one or more restriction enzymes
2.8 BRES ﬁgsﬁoé’s o858 T8 a5 DRES doBsne FEH SO wotwold
2. %



sertion of foreign DNA does not alter its replication properties

DG4 DNA Q (HAI2BINDE &5 (858 oo 58NS o
3. S [=5] o [-H] & )

all
@&.‘.IE-“:] o0
=

Question Number : 32 Question Id : 9032015470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an autoimmune disease?

& (B0 TN G A eFFsdrES (Krabo T AEEE) arh sob
Options :

Psoriasis
o POCIRRR

Rheumatoid arthritis
Bsherond U@éﬁ

Alzheimers disease
s v obsE) =0

Virtiligo
S0
e

Question Number : 33 Question Id : 9032015471 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

DNA extracted from an organism is cut into gene size pieces with
2.8 28 Dol 80 DNA D ady $0:rnd) potreore LA oo $8000y),

] %)

Options :

Polymerase enzyme
B = —
FOVE QoD

Helicase enzyme
O3S Q0B

Gyrase enzyme
= =
0= QoE&w

Restriction enzyine

BRES JoB
4. o

Question Number : 34 Question Id : 9032015472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

is the process by which stem cells divide to make more stem cells
==== JPIC T Sorostre D0 swre Sereorr DPE0DVEToD

Options :

self renewal

Srado HIEDEEm0
1 ) ‘v/ (=] L



) propogation

T7R(ESHES)
Thrombopoiesis
EroS aronin

3. %
Migration
Q0D

4. %

Question Number : 35 Question Id : 9032015473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following would be an example of antagonist hormone?
& (808 T TAG” A VORI (@Dé@;ﬂﬁ:{g} FEEND e

Options :

Calcitonin and Parathyroid hormone
SPORTFRS WO FoForand HES
1.¢

Estrogen and Progesterone
SEPaS DO (BPERTR
2 %% 2 2l

Epinephrine and Norepinephrine
DIV DO TEILI PN
3, %

Progesterone and Gonadotrophin
PRS0 TG ErDS
4. %



Question Number : 36 Question Id : 9032015474 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Parathormone deficiency causes
%Gﬂ;ﬁﬂﬁi"ﬁ &0 o ab Seihdol

Options :
Rickets
SI=TR
1. % i
Osteomalacia
@%__.f FanBadioe
2. %
Myxoedema
WS
3. %
Tetanus

Question Number : 37 Question Id : 9032015475 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which gland in mammals 1s lving in the sella turcica of the skull
Storod” @ (ol HES ?}&:é:@r:,?-ﬁs ©0&0ol

Options :



Pineal

EElov ]
Pituitary
VeV
2. ¥
Hypothalamus
PR EPRR
3. %
Adrenalin
AETOI
4, %

Question Number : 38 Question Id : 9032015476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Temperature best suitable for enzyme action

OB B DoY) esrgdH odiry BePKd
[ 2] = -

Options:
10°-20°C

1. %

25%-40°C



Question Number : 39 Question Id : 9032015477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

This happens in a LUllTIEICTECl skeletal muscle ﬂber

@""* Homd Soud D Yostso DohI% P Bl BoPdol
Options:

A band vanishes

A a’:% @d;,é;;ﬁn@é::}w

M line vanishes
M B =layily Sranayihol

H zone elongates
H £°5 Jrrbéol

I band 1s steady
D& Verdorr eotnold

Question Number : 40 Question Id : 9032015478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following ions are necessary for chemical events in muscle contraction
So58 D08t Ses® ERaDS e 0008 & edir LIS

Options:



Sodium and potassium

FEOHo SHow FrErhdho

Sodium and Magnesium
PEcho Sobahn iyadio
2. %

Calcium and Magnesium
D 0H0 sHCAi Fofacho
3.v '

Sodium and Calcium
APEcHo oS ?Q@S}G
4. %

Question Number : 41 Question Id : 9032015479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which 1s the CORRECT form?
8 DS (EshoS” wol

Options :

Class-Phylum-order-kingdom
Deifo - o - (Esbo- FREraro
1. #

Kingdom-phylum-class-order
FlEraro-S80-Derio-So
4] 0
2.

Phylum-genus-order-family
B0 -(Pers-(E00-5e00n0
3. %



Order-class-family-phylum
(Bao-Dgriio-Een0n0-380
4. %

Question Number : 42 Question Id : 9032015480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Schizogamy stage in the life history of plasmodium occurs in
FRfGabo £08 SoES® R §F ¥ S0
Options :

RBC’s and liver cell
JBEE Bezren DO SPBCD

LiF,
4
G

Stomach of Anopheles
TR e@%%ﬁo‘ﬁ:«o

2. %

Liver cells only

SO Seen S|
3. %

Blood of Anopheles
4w OTHOT S50 |8

Question Number : 43 Question Id : 9032015481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
In Amoeba systole and diastole are found in

P HoEko SHoSin m;é’szﬁo 2ohE® 822008

Options :

Food vacuole
Ry &85

1. %
Contractile vacuole
H05°%5 e85

2.9
Plasmasol
PRPS

3. % -
Plasmagel
FHEE

4, %

Question Number : 44 Question Id : 9032015482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the INCORRECT matching
[orr 285850 AR Hiospaw
Options :

Holotricha-Paramecium
F°° (B - SFrordudado



Telosporea-Plasmodium
BSF0ar - pRfdabo

Actinopoda-Amoeba
of TP - OWT

Peritricha-Vorticella

8@ - Shder
. & 35
4. %

Question Number : 45 Question Id : 9032015483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Porifera are
ST @009

Options :

Acellular
Sholetwpli Euvint-y

Diploblastic

Cr{0e
f

Triploblastic

]

i



None

"‘i\_

D ey

Question Number : 46 Question Id : 9032015484 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ascon type of canal system is found in
VPR E5DH HemsEnd 20He° 5BK00.
Options :

Euspongia
ovv s letTovey

Scypha

)
—_

Grantia
([rodgir

Leucosolinia
0 E
EJD;J%‘Q?EEU&'F

Question Number : 47 Question Id : 9032015485 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which one of the following is NOT the name of sponge spicule
& (8o TE° DB Djo&s 050 R0

Options :
Triaxon
[Sfevvi=ai)

1, % il
Monoaxon
SIS NS

2_ W
Tetraxon
BErs)

3. %

Axon
@5335
4.

Question Number : 48 Question Id : 9032015486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Secondary host of Taenia solium is
% : i ot
Qi FPoaho Ged) Grscdh e&Tow
Options :
1g

ol

£r

1.4

Man



Snail

3%
Sheep
T
4. %

Question Number : 49 Question Id : 9032015487 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Flame cells are associated with
e Seren L8 $020500HD
Options :

Respiration

CEa S ETowy)
it

Excretion

L
DRBE
=

Nutrition
5%

Digestion
lef[lovh)
==

Question Number : 50 Question Id : 9032015488 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Camouflage inkgland is characteristics of
DdrSE 208 (of (°arxE w08 rpof) L (@EEs

m

Options :

Loligo
SO

Octopus
TS
%]

Sepia

s g
e e TP

All
@sﬁclcﬁw

Question Number : 51 Question Id : 9032015489 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Leech is
ssefy L8
Options:

Unisexual
2% Bons £ (ArARENRS)



Dioecious
DEDONED (TowredchR)

Hermaphrodite

aychTons £9
3. %

Vector
0B S50 (35)

Question Number : 52 Question Id : 9032015490 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which crustacean species is often used as bioindicator of pollution
D ERRCIR 2D SHhre el S35 Srdsm QATENTE

Options :

Daphnia
GRRY O

Cypris

-2, =
eladod
Ry

Cray fish
3. ¢



Mysis

o, =
sl eded
o

Question Number : 53 Question Id : 9032015491 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Hydatid worm 1s

TEEE HBH o8
Options :

Schistosoma indicum
FE‘P*:"'“““D 208580

Enterobius vermicularis
SoBGHchn & “*é}"ﬁui

Echinococcus granulose
BT =5 (P
3. #

Ancyclostoma duodenale
acgf’ﬁg » HEREIS
4.

Question Number : 54 Question Id : 9032015492 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Placenta 1s formed in humans by
SrSHIS ety EVS B8PS0l
Options :

Amnion
PRy
ﬁ-J:JwJﬁ

allantois
efodan

chorion
Soeddna

Question Number : 55 Question Id : 9032015493 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In sponge, prosopyle 1s

P RS o0

Options:

Cell at the opening of incurrent canal

©odTirse Hey BHH5HT (Brosod® Bd) S0
1. %

Smaller canal that connect incurrent canal
©osETTIrT Derd” JSomrlon i Ser
2 33 (=] ) [ =



Contractile element at osculum

3. %

GRoree S8 el D088 JSrerdo
[t ] ) [= 9 o

Small canal and connects incurrent canal with radial canal
@Dé@;ﬁ:ﬁ? éa@;éo %iﬁeaaﬁa:-dﬁ;%a&gé‘ 5D ) é)@;

4, &

Question Number : 56 Question Id : 9032015494 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In Urochordata presence of
cﬁwﬁ‘aﬁ‘g&?@; Bl Botuol

Options :

Tail in adults
g €9es® &%

Segmented body
poldidno Dok Go

Ascidian larva

& i & #‘
- od8dbe Godito

Coelom
SHEES (F68 %H580)

Question Number : 57 Question Id

: 9032015495 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The sucking action of the buccal funnel in Petromyzon is due to
SRS v ToE) HT) Bob LD wdhibdod

Options :

Circular muscle
Sech SotTeen

Longitudinal muscle
fengy) SokTeen

Oblique muscle
@RNe Soktren

Radial muscle
Tl Bodioeen
< @
4, &

Question Number : 58 Question Id : 9032015496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which accessory respiratory organ of fishes contain air
D08 @ ooy TPPEchan MDY EON Botol

Options:

Gill chamber

= v =
S n..:.ﬁw



Operculum
) = =
©i% P

Swim bladder
e b
3. %

Buccal chamber
o K0 (85;)

Question Number : 59 Question Id : 9032015497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Fishes have kidney of
DD Sor(EDosESD
Options:

Pronephric type
FRBE S50

Mesonephric type
oFTDHE 850

Archinephric type
wORBE 8350
3.%



Metanephric type
werRBE S50

Question Number : 60 Question Id : 9032015498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The sexual embrace between male and female frog is called
S ol 0 o ey Tons vdorzrds ol

Options :

Amplexus
SORID
1. ¢

Swarming
rOorirEeo (Fe:000)
2. %

Aplexus

m-= B
od aJ="ed
L B39

| Spawning
HERDHQE0 (F)Q0h)

Question Number : 61 Question Id : 9032015499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which 1s NOT a reptile
& (Bob 78" A0 3EYVo =
Options :
Icthvophis
=28TrhHo
.¢

Hemidactylus
TPINTESOR
L

Icthyosaurus
BETrER

Sphendon

%’oq}fﬁ'gmﬁ

4. %

Question Number : 62 Question Id : 9032015500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Snakes protrudeds its forked tongue through a notch regularly in
FEn PR DO wrensd o8 md S0l o Ebagorr adhes & &x00

Options :

Opening of the mouth

F& rolgsw

Upper jaw
Felatad
2 %



Lower jaw

Bod &5
3. ¥

Jointly by upper and lower jaw
2 0Caiw (ol HEten 503

Question Number : 63 Question Id : 9032015501 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Loreal pit of Viper is
205 (8% Dowd) &% Sfoahs Ko

Options :
Photoreceptor
SFO&(PFS0

1. %

Chemoreceptor
efalevvil[gproniste!

2. %

Thermoreceptor
eg(rdeso

3.

Gastroreceptor
Xole](geni=te
4. %

Question Number : 64 Question Id : 9032015502 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Animals giving birth to young ones are known as
DO 20T soshayen

Options :
Viviparous
%#@Qd?m
1.4
Oviparous
©O& T°\sPen
2. %
Voracious
BoBEPH (FERHD)
3. %

Ovoviviparous
©0533ree)tisren

Question Number : 65 Question Id : 9032015503 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In Birds. respiratory tract include
SHed® TR 3P0 DA BON soewol

Options :

Nares. trachea. lungs
TraSedoren, TPANTPEo, dela&den

el



Lungs. spiracles. trachea
&s208He0, Tddolgren (REES)), arcinmrEo

Y
=

Nares. nasal sac. glottis. larynx. trachea. syrinx
TRTEoGEeD, TRTND, EET, er0o8), srawmrEo, 2805 (309)
3.v

Nares. glottis. larynx. trachea
Tdopren, $08dwo(rpdR), Bdnds (e2008)), ardnmrgo
4. %

Question Number : 66 Question Id : 9032015504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Human egg is an example of
SrFRaRNETR vwodo

Options :
Mesolecithal
SoATNS
1. %
Microlecithal
DIFTRES {"'mgﬁz-éﬁj
2. %
Alecithal
ABRHS (HSE8IeE)
3. v

4. %



Macrolecithal
SSRGS (dre 2&8Y)

Question Number : 67 Question Id : 9032015505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The presence of grey crescent 1s a characteristic of
e p arey A 1
0 08 (ardddorh Jo5)) o0 L (B8E oFro

Options:

Fertilised egg of frog
50)TwE) HelsSdn Tohd eoisn
1. ¢

Unfertilised egg of frog
E5)TwE) Holsdn Todl @oisn

Retina of the eye
088D JE Doesw

Frog Spam
80y Mg Jrro (FR)R)

Question Number : 68 Question Id : 9032015506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Termination of gastrulation 1s indicated by
PERITAS 8 @owolid Lweoe drdodnthéod

Options:

Obliteration of blastocoel
TRPRS ©oSTeRo
1.¢

Obliteration of archenteron
el ©o(Ham @ocﬁtgéo

Closure of blastopore
PRPEBS S S RSESE0
3. %

Closure of neural tube
FOTEO DHEED 9SG0
4. %

Question Number : 69 Question Id : 9032015507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

At which stage. mammalian embryo is implanted in the uterus
D BIE° §BE Dot Kozdabod® H8PBILHE00
[o]

Options :

Blastocyst
R
1.¢

Morula
5:‘-]""5.'};@



Gastrula
moes
3. %

2 - celled stage

- 2- Bore O3
4, %

Question Number : 70 Question Id : 9032015508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The hypoblast form the

TR CAN SAirHTRO
Options :

Ectoderm

Bt
dedPed )0
—

Endoderm
@oéﬂ:ﬁim
2.9

Mesoderm
oo
O

Blastopore
SpRPEPS
4, %

Question Number : 71 Question Id : 9032015509 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following system DOES NOT undergo any change during metamorphosis
& QEADE® & Y dewiiod ey Torsed
Options :

Excretory
DL

| Nervous
o)

2. %

Digestive
o)
ES

Lymphatic
DozrHE

Question Number : 72 Question Id : 9032015510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The organ which 1s not found from mesoderm is
SGr&do ok ABED Bchio

Options :
Foregut

, %)ile g Tl Fovil=le
1. % =



Heart
oG

2. %

Choroid

- BEDeeH0

Adrenal cortex
Bt ?g\ {@F Y ‘iﬂﬁ,‘:-_jo}
w@wé Ez'ﬂ.:,"‘nJ ot * e

Question Number : 73 Question Id : 9032015511 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Umbilical cord i1s formed of
TR (oSS =8) LIS Soirdadol

Options:

Yolksac
PSR 0d)

Allantoic stalk

5 % @808y o6
Yolksac and Allantoic stalk
- PSR0D Hod efoly =0

Chorion

o T
4 ESleilovivy)



Question Number : 74 Question Id : 9032015512 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Placenta in man 1s
SPHSRE° woraing
Options:
H"lElllOCh{Tliﬂl

Spar S 0cHS
1.

Epirhelio chorial
AEOTF 5°0cHS

‘:}Vnde smochorial
*“ﬂ*a's“‘ falo vyl

Exothcliochorial
: =
STal dlevci=delovels)

Question Number : 75 Question Id : 9032015513 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Mark rhe hormone NOT secreted by placenta
aoPai0ey) ok (BDoSd w'ﬁt"wrw S osysin

Options :



Relaxin

Cerm3 5
1. % _
Progesteron
e=Tsiop
2. %
HCG
HCG
3 %
Testosterone
E,':""ﬁgﬁ
4.

Question Number : 76 Question Id : 9032015514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Primitive streak with primitive pit and Hensens node is a characteristic of
©00p, ©Ligsn HoUn TFI 2 8o O @‘:@*é Slsfocle)

Options :

Embryonic development of frog

i, B s e
1% éﬂﬂﬂmmgﬁ,ﬁ

Embrvonic development of chick
558 2 omﬁw%r‘:}
2.

E111b1v0111'c development of man
%a@ ﬂomwo@u



placenta of rat
LNEETY oA

Question Number : 77 Question Id : 9032015515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Who put forward the first theory of evolution
B0eR0 DO0US TGS JIpodind BETLoAITH

Options :
Darwin
o0t

1.8 7w
Wallace
O

2. %

Spencer
Ea}-&igﬁ
3_ W
Lamarck
[Sivate))
4. &

Question Number : 78 Question Id : 9032015516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The term ‘cell” was given by
‘Beao’ ©F Q) S (BINI) T

Options :

Robert Brown
o0d (S

Robert Hook

- Unmg 08

Leuwenhock
&DF“E 555%
3. %

Schleiden

Question Number : 79 Question Id : 9032015517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Genetic drift 1s a
2y &%;éré 058

Options:

Interbreeding of Eeneria..allv different individual

- aBore S &), £3e Evvinly E&;ﬁ&?@é (Hesdd0

Random change in gene frequency
vy Lﬁésa’;é*cf’s c’fmiﬁ&L EDD S
2.9



Sudden change in the genotype

30007 fﬁo%:o@“' .559‘ N8 S8
3. %

Orderly change in gene frequency
sy TR f@m"oé‘ EE :L“Fw S8

Question Number : 80 Question Id : 9032015518 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Natural selection basically means
358 S0 odrr

Options :

Struggle for existence
2330 Tho SPoreo

Survival of fittest
@808 %ﬂmtﬁﬂo Lo SdF5H

—r

Differential reproduction
SO (Dedres&
bl = o Ou——

Elimination of the unfit
@ééﬂ& 70 Fohod



Question Number : 81 Question Id : 9032015519 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following organelle is NOT membrane bound
&id 888 Seroiio
Options :

Centrioles
pletE plollale

Ribosomes
B RP0
2. %

Nucleolus
SolE srodo

All

e
r="4

Question Number : 82 Question Id : 9032015520 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘Protein iceberg in the sea of lipid’- this statement was used for
D8 Bimos® BFES Sohos (@ o) OF T QRS0 TFE

Options:
Unit membrane

[Dereadirdo
1. % =



Sandwitch model
5 % FobdH ST

Fluid mosaic model
Spond Swerons Ssear
3. %

Shuttle model

. x HNDE Soree

Question Number : 83 Question Id : 9032015521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Golgi complex 1s present i all the following cells EXCEPT ONE
rw%i}ﬁoﬁ%o Eol 2F)) oy Serod Botnol S 256 80, ob

Options :

Kidney cell
Sar|gos B0

1. %
Prokaryote
G BolBs £

2. %
Liver cell
SPEaDh S0

3. %



Sperm
DS

Question Number : 84 Question Id : 9032015522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Oxisomes are present on the
o3 )Dnen LR Bodrow

Options:

Endoplasmic reticulum
©oBLS (P oo
] =

Ribosomes
B DSwen

Inner membrane of mitochondria
&° oG TS HODRS
3.

Outer membrane of mitochondria
DE® olBai @S cHd RS
obéT” Srollaie ) 20D o)

e

Question Number : 85 Question Id : 9032015523 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



One of these 1s INCORRECT
& (808 DER) TAS° .58 X0

Options:

Lysosomes have hydrolytic enzymes
BT S0er 2o VFRHEAD JoFEwOH SO BoLraw
1. %

Lysosomes are autophagic
BRPRREen Braho FEseen
2. %

Lysosomes can dissolve carbohydrates. nucleic acid. proteins and lipids
BFFnen 0B, SoFsEpw, [EPOR) 0 OREH S0ATRoD

—

All lIysosome are same structurally and functionally
o) BRPmen dovrrdSorr H0dn BairgSore o8 dijorr Boiron

Question Number : 86 Question Id : 9032015524 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Tetrad of chromosome is seen in
B 3rPing” S (BEr) & $35° 5900

Options :

Leptotene

asﬁgéﬁ



Metaphase I
S.U(:S:"m: G8-1

Question Number : 87 Question Id : 9032015525 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Histone proteins are synthesized in
&1@:5 (P& BoZHe TorES

Options:

G1- phase

;% Gl-&%
S-phase
s S — 83
G2 -phase
G2 - &3
3. %
M-phase
M =863
4. %

Question Number : 88 Question Id : 9032015526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The movement of chiasmata towards the end of chromatid 1s called
EEr8E 92508 Srzren TSRS & DFore Ledr

Options :

Synapsis

Qﬂ—ﬁg'\'\ﬂ

Translocation
@@%éﬁm

Terminalisation
- - =
OORTEA

Fission

= T
AT
L —

Question Number : 89 Question Id : 9032015527 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
. Gp phase occurs

Gp - O+ &sotl
Options:

After G2 phase

Gr -5 S&zed

After S phase
S - &8 Soard



Betfore G phase
G; - &% SxR)s0ot
3. %

Before S phase
4. v S — &3B08 Swold

Question Number : 90 Question Id : 9032015528 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

At which stage. nucleolus completely disappear
o) B336° So|iisro80 RO @dﬂ;éﬁiﬂ;@;é‘i}o&

Options :

Leptotene
T

| % DLES
Lygotene
=rES

2. %
Pachytene
FHEI

3, #*
Diplotene
o '?-J._E

4V GERES

Question Number : 91 Question Id : 9032015529 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Cleavage differs from mitosis in

DEEI0 J0DFed (PerAR)E” JPLoIL
Options :

Syuthetic phase
DoZde &3

Growth phase

=t w2’
oé’,iar 58
2. ¥

Synthetic phase and Growth phase
Toghee &E LAk 28 k]
3. %

Stationary phase
D (PIg) &I
@ [+

Question Number : 92 Question Id : 9032015530 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

When does synthesis of DNA end
DNA 2038890 J3ptd r8ay&0l

Options :
S phase
S -&3



Prophase
Esrsg (@58

2. %

Pre-mitotic gap phase (G1)

V0NN oD w6 SI3(G1)
3. v N

Post-mitotic gap phase (G2)

N0 Dt edosd vl OF (G2)
4, ®

Question Number : 93 Question Id : 9032015531 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Foetal sex can be determined from cells present in amniotic fluid by looking for
2osIE” Dol HB0H) ve)EHe™d Swred® £ 8ds oo AEOEE.

Options :

Kinetochores
SR e

Chiasmata
DraSTen
oAy ]
2 %

Barr bodies and sex chromosomes
o8 worrer HCO Tohd (B Rrdtanen
3. ¢

Autosomes

4, %



Question Number : 94 Question Id : 9032015532 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the INCORRECT term
& (800 AS° KOs Hordy HooT S
I =) ke
Options:

DNA to RNA -transcription
DNA ool RNA - @885

1. %
RNNA to DNA — translation
- RNA 008 DNA —edosrisn
DNA to DNA- replication
DNA of DNA- @é%iﬁ
3_ W
RNA to Pmteins-_ translation
4 x RNA Ho& @PE5y - edardo

Question Number : 95 Question Id : 9032015533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The number of autosomes in human being are
SPIPVE” wTAtE0e Sogy

Options :

44
1.9



2_ F
46
3. %
48
4. %

Question Number : 96 Question Id : 9032015534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Purines are

S0
Options :

Adenine. Guanine

AEAS, MO
1.¢

Adenine. Cytosine

- 0o B L5, =
oJCirdod, e

B

Thymine. Uracil
BE, atdhE

Thymuine. Uracil. Cytosine
DR, 0TS, LTI

Question Number : 97 Question Id : 9032015535 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

All sex linked triats always show

o) Dol JFror) wfrw 3d SJndhzon
Options :

Linkage
drorf)s

Crossing over
DDA

Criss cross inheritance
185 =% oddodss
3. %

Dominance
eenlelI 1 o)
4. % S

Question Number : 98 Question Id : 9032015536 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Adenine always combine with
JES £28° JorRosnd (302) dotnod
Options:
Thymine

.=
S



!

rz)
G 3
2@
en

Uracil
Q0o

Thymine and Uracil

BN SHocin awdRS
4.

Question Number : 99 Question Id : 9032015537 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The termination codon is NOT

. N o KB e s .=
& 8ol TIS° 258 BORAS Foes o

49

Options :

AUG

1.4

UAA

UAG

UGA

Question Number : 100 Question Id : 9032015538 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Purines are attached to pentose sugar by
ety oS SBPE LD oroe JorrRoUns otron

Options :

Glycolytic bond
05°858E 2o%o

Glycosidic bond
R 2AE oo
2. ¢

Phosphodiester bond
. @ﬂ?ﬁiﬁ_ﬁ_ﬁ‘@g elelale)

Hydrogen bond
IE°2S pogo



